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QUESTION 1

tructions

*  THIS TASK DDES NOT REQUIRE DEVICE CONFIGURATION.

* To access the multiple-choice guestions, click on the numbered boxes on the left
of the top panel

* There are four multiple-choice guestions with this task. Be sure to answer all
four questions before selecting the Next button.

While using the Microsoft Assessment and planning toolkit to design a new design you
come up with these results from the tool,

Anzswer the following guestions from the content provided.
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While using the Microsoft Assessment and planning toolkit, please answer the following question. Highest Maximum

CPU Utilization?



A. 10%

B. 24%

C. 56%

D. 100%

E. 138%

Correct Answer: C

QUESTION 2
What is the default CoS value for FCoE packets on a storage VDC?
Al

B.2

E.7

Correct Answer: C

QUESTION 3

Which two resources can be VDC-dedicated resources? (Choose two.)
A. QoS hardware queues

B. physical interfaces

C. Atable spaces

D. fabric modules

E. management interfaces

Correct Answer: BE

QUESTION 4

The ANSI restriction that only 239 Fibre Channel domains are allowed per SAN fabric creates challenges for the
designer working on a Cisco Data Center Unified Fabric network. Which two approaches can the designer utilize to
restrict the number of Fibre Channel domains below 2397 (Choose two.)

A. Daisy chain up to 100 core Fibre Channel switches, leaving 139 domains for the network edge.



B. Assign a domain ID for each blade switch and top-of-rack access layer switch.

C. Use NPV to cause a fabric or blade switch to appear as a host to the core Fibre Channel switch.
D. Migrate to FCOE to eliminate the need for Fibre Channel domains.

E. Utilize VSANSs to allow scaling well beyond 239 domain IDs.

Correct Answer: CE

QUESTION 5

Refer to the exhibit.
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Customer would like to utilize Cisco Nexus7000 series switches as converged Ethernet aggregation and SAN core
switch in their new data center design. The switch can be connected to a Cisco MDS 9500 Series switch in a three-tier
edge-core-edge SAN design as shown in the exhibit. Which technology makes this type of design possible?

A. FC forwarding

B. Multi-hop FCoE

C. iSCSI gateway to increase network bandwidth

D. vPC+

E. NAS gateway at the aggregation layer

Correct Answer: B

QUESTION 6

You have designed a Cisco UCS Solution, and each Cisco UCS 6248UP Fabric Interconnect has these connections: 4 x
Cisco UCS Chassis each with 4 x 10 Gb links per Fabric



4 x 10 Gb Unified Port Channel to the upstream Nexus switch

How many additional Fabric Interconnect port licenses are required?
A. 16

B.0

C.20

D.4

E. 40

Correct Answer: A

QUESTION 7

Instructions

= THIS TASK DOES HOT REQUIRE DEVICE CONFIGURATION.

*  Toaccess the multiple-choice questions, click on the numbered boxes on the left of the top panel.

* There are two multiple-choice questionz with ‘his task. Be sure to answer all four guestions before selecting the Next button.
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Select two items that represent features of the Aggregation layer in the Data Center 3-layer design. (Choose two)
A. High-speed Layer 3 switching
B. First-Hop Routing Protocols

C. Demarcation point between static and dynamic routing protocols



D. QoS Marking
E. Q 802.1X

Correct Answer: AB

QUESTION 8

Which two FEX topologies trade deterministic bandwidth for server-link stability during FEX uplink failure? (Choose
two.)

A. port channel

B. static pinning

C. virtual port channel
D. dynamic pinning

E. Equal-Cost Multipath
F. RPVST

Correct Answer: AC

QUESTION 9
DRAG DROP Drag and drop the feature descriptions from the left onto the correct types of VDCs on the right

Select and Place:

Default VDC

o

By default, all of the ports on the switch are

assigned to this VDC. a©°
N4
This VDC can be accessed only via the Console or ;
Management ports on the Supervisor modules. 1;‘ . 1 Admin VDC

)€
Only mgrnt0 can be allocated to this\‘g@é

49
This VDC can handle user traffic.

Correct Answer:



Default VDC

By detgg@t, all of the ports on the switch are
@@\ assigned to this VDC.

@@\C_@’\Iﬁis VDC can be accessed only via the Console or

(7 Management ports on the Supervisor modules.

Admin VDC

Only mgrnt0 can be allocated to this VDC.

This VDC can handle user traffic.

QUESTION 10

You plan to extend the Layer 2 domain by using OTV in multicast mode What must you consider?

A. The same site ID must be used on all of the edge devices on all of the sites.

B. The join interface must run IGMPV3

C. The OTV site VLAN must be extended over the overlay.

D. The site OTV VLAN must be the same on all of the AED routers on all of the sites.

Correct Answer: B

QUESTION 11

Which two actions are performed at the aggregation layer? (Choose two.)

A. route summarization
B. fast convergence

C. packet filtering

D. traffic classification
E. port security

Correct Answer: AB

QUESTION 12
Which appliance port is connected to a Cisco UCS?

A. Nexus port




B. Fibre Channel storage
C. Catalyst switch port
D. NFS storage

Correct Answer: D
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